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Question 1 : Circle the correct answer :

1 Which statements describe self-pollination?

transfer of pollen two plants required
A from anther to stigma yes
B from anther to stigma no
C from éligma to anther yes
D from stigma to anther no

A

©

2 A number of new plants are growing from pieces of a plant that have become detached and have
rooted in soil.

Which statement is correct about these new plants when they mature?
A The fruit they produce will all ripen at the same time.
B They will all grow to the same size.

@ They will all have the same colour flowers.

D They will all produce the same number of fruit.

3 A plant has flowers whose anthers mature and fall off before the stigma is fully developed.

What will this prevent?

cross-pollination
insect-pollination
self-pollination

wind-pollination
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Y. Whatis always essential for seeds to begin germinating?

A carbon dioxide
B light

C mineral salts

@ oxygen

5. The diagram shows peas growing on the plant.

/
R
-

What are the labelled structures?

P Q R
A fruit seed pericarp
B fruit testa seed
@ seed fruit pericarp
D seed fruit testa

& What passes down a pollen tube after pollination?

female nucleus

A

male nucleus
C
D

ovule

pollen grain
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The diagram shows a broad bean seed. Part of it has been cut away to show the internal

structure.

e

plumule cotyledon

radicle

testa

Which parts make up the complete embryo?

A radicle, plumule, cotyledons and testa

radicle, plumule and cotyledons only

C radicle and plumule only

D radicle only

after it has been pollinated.

g The diagram shows part of a flower

diploid haploid
A 1 4
: :
C 3 2
D 4
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ut if seeds need oxygen to germinate.

A. The diagram shows an experiment to find o

rubber bung \

~

soaked seeds —| | _ soaked seeds

~—t—water bath

solution to absorb oxygen

Which change would make tube Y an effective control?

A Add soda lime (absorbs carbon dioxide) at the bottom of tube Y.

Close tube Y with a rubber bung.

C Do not soak the seeds in tube Y.

D Replace the soaked seeds in tube Y with seeds that have been boiled.

| 0. Aninsect carries pollen from one flower to another flower on the same plant.

What is the type of reproduction and what is the type of pollination in this plant?

[— reproduction type of pollination
A asexual cross-pollination
B asexual self-pollination
C sexual cross-pollination

@ sexual self-pollination
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Which conditions are necessary to activate enzymes when a seed germinates?

suitable
temperature

Question 2 :

Johnson grass, Sorghum halepense, is wind-pollinated.

(a) Fig. 4.1 shows some Johnson grass flowers.

Fig. 4.1
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Describe two features visible in Fig. 4.1 that show that Johnson grass flower

adapted for wind-pollination.

..............Fﬁfffgmcx.m'.\xh.......\.rs@e, ................................
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(b) Fig. 4.2 shows a section through a carpel shorlly after pollination.

e Name partE: S%\L .
e Describe what will happen after

pollination .
LA palen Fube.... Wi\ g@x....
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Fig. 42
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plants such

(c) Discuss the advantages of sexual reproduction to a wild population of flowering

as Johnson grass.

(d) Sexual reproduction in plants results in seeds being formed.

State three conditions needed for the germination of seeds.

.............. \akel .. 4G hl. A0a. S MEGEEA T s s
Question 3 :

Diagram 2 shows vertical sections of two diff
pollinated by insects.

erent flowers. They are both

stigma stigma
anther
petal
petal filament anther
filament

flower 2

flower 1

Diagram 2

S

e Which flower would have less chance of self-pollination? ....... 5 eevenicanenes

Explain your answer gf»gm p\\ﬁh\,ﬂ\’\q‘—\\'\o\ﬂan]—h\:( -
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Question 4 :

T
he boxes on the left contain the names of flower parts
The boxe i i

s on the right contain descriptions of the functions of the flower parts

Draw one straight lin
e from each box on the left to
oneb i i
flower part to its function. RS e

Draw five lines.

flower part function

attracts insects

place where pollen
has to land

B hastel
produces ovules
/
petal
produces pollen
e ]
sepal =
- protects the flower
// — bud
stigma ) I
transports water
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guestion 5:

Fig .2 shows two photomicrographs of pollen.

gniﬁcation x 2000

magniﬁcalion x 1250

ed flower

pollen from an insecl-pollinated flower pollen from a wind-pollinat

wledge and the info
n from a wind- poll

Describ€, using your kno
insect- polllnated flower is different tO pollen
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guestion 6:

(a) Some students investigated the conditi
seeds. They used maize seeds from a

ons needed for the germination of maize
packet of seeds they had purchased ina

shop.

Three dishes were used, each containing cotton wool and the same number of

maize seeds, as shown in Fig. 1.

maize
seed

cotton
wool

Fig. 1

Table 1 shows the conditions provided for each dish.
Table 1
P_’/’T_’_—_/——//ﬁ
dish ‘
conditions S R
A B o
el R 5 O Lt 5.
treatment of cotton wool damp dry damp
temperature / °C 20 20 ; 3
light or dark light light | dark |
The seeds were left for five days and then observed.
The results are shown in Table 2
Table 2
T dish | results
'.6‘, 3 Aall seeds germinated ]
B | ho seeds germinated
f: no seeds germinated
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(i) Explain why the seeds in dishes B and C did not germinate.

.................... DS*\(._(H\e\theR\um\SLcw)

(ii) Ina second investigation, maize seeds were placed in a dish containing damp
cotton wool.

This dish was left in the dark for five days at 20°C.

Predict and explain the results.

_T\:\e,su.ciwdkge/(mma\‘c\xms;
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Question 7 :

Some plant species are self-pollinated.

Discuss the long-term effects of self-pollination on the evolution of these plant

species.
o bamaked o Natdabon.. Lo s el chance..
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